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Model Question Paper
Time : 3Hrs M.M: 80
General Instruction :

1. This question paper have 5 section A-E
2. Section A has 16 MCQ carrying 1 mark each.
3. Section B has 5 questions carrying 2 marks each.
4. Section C has 7 questions carrying 3 marks each.
5. Section D has two case based integrated units of assessment (4marks each) with sub

parts of various of 1,1 and 2 marks each respectively.
6. Section E has five question carrying 5 marks each
7. All question are compulsory however an internal choice in 2 questions of 5 marks, 3

questions of 3 marks and 2 questions of 2 marks has been provided.

8. Draw neat figures wherever required. Take = whenever required if not stated.

Section-A (1 x 16 = 16)
1. If (4,19) is a solution of the equation  y = ax + 3, then a=

;fn (4,19)] lehdj.k y = ax + 3dk gy gS] rks a=
(a) 4 (b) 6 (c) 3 (d) 5

2. is
gS

(a) a rational number ,d ifjes; la[;k (b) an integer ,d iw.kkZad
(c) an irrational number ,d vifjes; la[;k (d) a whole number ,d iw.kZ la[;k

3. In a histogram the area of each rectangle is proportional to:
,d vk;r fp= esa izR;sd vk;r dk {ks=Qy lekuqikrh gS%
(a) The class size of the corresponding class interval

laxr oxZ varjky ds oxZ eki ds
(b) Cumulative frequency of the corresponding class interval

laxr oxZ varjky dh lap;h ckjaokjrk ds
(c) The class mark of the corresponding class interval

laxr oxZ varjky ds oxZ fpUg ds
(d) Frequency of the corresponding class interval

laxr oxZ varjky dh ckjaokjrk ds
4. The Sum of all the probabilities is

lHkh izkf;Drkvkas dk ;ksx gS%
(a) 0 (b) 2 (c) 1 (d) -1

5. The point (0,-8) lies.
fcUnq (0,-8) fLFkr gSA
(a) on the x-axis (x&v{k ij½ (b) on the y-axis (y-v{k ij½
(c) in the II quadrant ( II prqFkkZ'ka esa½ (d) in the IV quadrant (IV- prqFkkZ'ka esa½

6. In the given figure ABCD is a Rhombus. Find the values of x and y
nh xbZ vkd`fr ABCD ,d leprqHkZqt gSA x vkSj y ds eku Kkr djsaA

(a) x=350 and y= 350 (b) x=450 and y= 450

(c) x=370 and y= 370 (d) x=400 and y= 400 A
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7. If ∆PQR≅ ∆EFD, then E =

;fn ∆PQR≅ ∆EFD gS rks ∠E =

(a) P (b) Q (c) R (d) None of these buesa ls dksbZ ugha
8. Which of the following is a polynomial

fuEufyf[kr esa ls dkSu cgqin gS
(i) x2 - 5x - 4√ + 3

(ii) - x + + 1

(iii) √ + √
(iv) √2 x2 - 3√3 x + √6
(a) option (iv) (b) Option (ii) (c) option (i) (d) option (iii)

9. In the given figure, if AB ll DE.∠BAC=350 and∠ CDE = 530, find∠DCE

nh xbZ vkd`fr esa ;fn AB ll DE.∠BAC=350 vkSj ∠ CDE = 530 gS rks ∠DCE Kkr djsa

(a) 530 (b) 350 (c) 920 (d) 900

10. In the figure, if∠ABC = 450 then∠AOC =

vkd`fr esa ;fn ∠ABC = 450 gS] rks ∠AOC =

(a) 750 (b) 450 (c) 900 (d) 600

11. Which of the following pair is a solution of the equation 3x - 2y = 7
fuEufyf[kr esa ls dkSu lk ;qXe lehdj.k 3x - 2y = 7 dk gy gS
(a) (-2,1) (b) (1,-2) (c) (5,1) (d) (1,5)

12. When P(x) = x4 + 2x3 - 3x2 + x - 1 is divided by (x,-2), the number is:
tc P(x) = x4 + 2x3 - 3x2 + x - 1, (x,-2) }kjk foHkkftr gksrk gS rks 'ks"kQy izkIr gksrk gS%
(a) -15 (b) 21 (c) -1 (d)  0

13. The surface area of a sphere of diameter 14cm is
O;kl 14cm okys xksys dk i`"Bh; {ks=Qy gS%
(a) 256cm2 (b) 416cm2 (c) 616cm2 (d) 308cm2

14. Assertion (A) : The perpendicular distance of the point A(3,4) from the y-axis is 4
vfHkdFku(A) % fcUnq dh y &v{k ls ykfEcd nwjh 4 ek=d gS
Reason R: The perpendicular distance of a point from y-axis is called its x- coordinate,

mark the correct choice
dkj.k (R) % fdlh fcUnq dh y &v{k ls yaEor nwjh mldk x &funsZ'kkad dgykrk gSA lgh

fodYi fpfUgr djsaA
(a) Both assertion (A) and reason (R)  are true and reason (R) is the correct explanation of (A)

vfHkdFku(A) % ,oa dkj.k (R) lR; gS vkSj dkj.k (R) vfHkdFku(A) dk lgh Li"Vhdj.k gS
(b) Both assertion (A) and reason (R)  are true but reason (R) is not the correct explanation of (A)
vfHkdFku(A) % ,oa dkj.k (R) lR; gS ijUrq dkj.k (R) dk vfHkdFku(A) dk lgh Li"Vhdj.k ugha gS



(c) Assertion (A) is true but reason (R) is false.
vfHkdFku(A) lR; gS ijUrq dkj.k (R) vlR; gS

(d) Assertion (A) is false but reason (R) is true
vfHkdFku(A) vlR; gS ijUrq dkj.k (R) lR; gS

15. Assertion (A) : The area of an equilateral triangle having each side 4cm is 4√3cm2

vfHkdFku(A) % Hkqtk 4 lS0eh0 okys leokgq f=Hkqt dk {ks=Qy 4√3cm2 gSA

Reason (R) : Area of an equilateral triangle = √ x a2

dkj.k (R) % leckgq f=Hkqt dk {ks=Qy = √ x a2

(a) Both assertion (A) and reason (R)  are true and reason (R) is the correct explanation of (A)
vfHkdFku(A) % ,oa dkj.k (R) lR; gS vkSj dkj.k (R) vfHkdFku(A) dk lgh Li"Vhdj.k gS
(b) Both assertion (A) and reason (R)  are true but reason (R) is not the correct explanation of (A)
vfHkdFku(A) % ,oa dkj.k (R) nksuks lR; gS ijUrq dkj.k (R) vfHkdFku(A) dk lgh Li"Vhdj.k ugha gS
(c) Assertion (A) is true but reason (R) is false.
vfHkdFku(A) lR; gS ijUrq dkj.k (R) vlR; gS
(d) Assertion (A) is false but reason (R) is true
vfHkdFku(A) vlR; gS ijUrq dkj.k (R) lR; gS

16. ABCD is a rhombus such that∠ACB=400, then∠ADB is

ABCD ,d le prqHkqZt gS ftlesa ∠ACB=400, gS] rks ∠ADB gS
(a) 400 (b) 450 (c) 500 (d) 600

Section-B (2 x 5 = 10)
17. Simplify the following expression

fuEufyf[kr O;atu gy djsa(√5 + √2 )2
or

Rationalise the denominator
gj dk ifjes;hdj.k dhft,

√
18. Check whether 7+3x is a factor of  3x3 + 7x

tkap dhft, fd 7+3x, 3x3 + 7x dk ,d xq.ku[kaM gS ;k ugha

19. Show how √5 can be represented on the number line.

fn[kb, fd la[;k js[kk ij √5 dks fdl izdkj fu:fir fd;k tk ldrk gSA
20. Find the area of a triangle two sides of which are 8cm and 11cm and the perimeter is

32cm.
,d f=Hkqt dk {ks=Qy Kkr dhft, ftldh nks Hkqtk,sa] 8cm vkSj 11cm gS vkSj ftldk
ifjeki 32cm gSA

or
The height and slant height of a cone are 21cm and 28cm respectively. Find the
volume of the cone.
fdlh 'kadq dh ÅapkbZ vkSj fr;Zd ÅapkbZ Øe'k% 21cm vkSj 28cm gSA bldk vk;ru Kkr
dhft,A



21. Plot the point (x,y) given in the following table on the plane, choosing suitable units
of distance on the axis.
v{kksa ij nwjh dk mi;qDr ,dd ysdj uhps lkj.kh esa fn, x, fcanqvksa dks ry ij vkysf[kr
dhft,A

X -2 -1 0 1 3
y 8 7 -1.5 3 -1

Section-C (3 x 7 = 21)

22. In fig. if AB ll CD, EF⊥CD and∠GED = 1260, find∠AGE,∠GEF and∠FGE.

vkd`fr esa ;fn AB ll CD, EF ⊥CD vkSj ∠GED = 1260 gS rks ∠AGE, ∠GEF vkSj
∠FGE Kkr dhft,A

23. Factorize the polynomial
xq.ku[kaM.k dhft,A
64a3 - b3 -144a2b + 108ab2

or
Factorize the polynomial
cgqin dk xq.ku[kaM.k dhft,A
27y3 + 125z3

24. Construct a triangle ABC in which BC = 8cm,∠B=450 and AB-AC= 3.5cm

,d f=Hkqt ABC dh jpuk dhft, ftlesa BC = 8cm,∠B=450 vkSj AB-AC= 3.5cm gSA

25. Express the following in the form of , where p and q are integers and q≠ 0.
fuEufyf[kr dks ds :Ik esa O;Dr dhft,] tgka p vkSj q iw.kkZd gS rFkk q≠ 0.gS

or

Find three different irrational numbers between the rational numbers and

ifjes; la[;kvksa vkSj ds chp rhu vyx vyx vifjes; la[;k,a Kkr dhft,A

26. Factories y2 - 5y + 6 by using the factor theorem.
xq.ku[kaM izes; dh lgk;rk ls y2 - 5y + 6 dk xq.k[kaMu dhft,A

27. A die is throw 1000 times with the frequencies for the outcomes 1,2,3,4,5 and 6 as
given in the following table.
,d ikls dks 1000 ckj QSadus ij izkIr ifj.kkeksa 1]2]3]4]5 vkSj 6 dh ckajokjrk,a lkj.kh esa
nh xbZ gS
Outcome
ifj.kke

1 2 3 4 5 6

Frequency
ckjaukjrk

179 150 157 149 175 190

Find the frequencies of getting each outcome.
izR;sd ifj.kke ds izkIr gksus dh izkfFkdrk Kkr dhft,A
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28. In fig.∠B<∠A and∠C<∠D, show that AD < BC

vkd`fr esa ∠B<∠A vkSj ∠C<∠D, gSA n'kkZb, fd AD < BC gSA

or
Prove that the sum of any two sides of a triangle is greater than the third side.
fl) fdft, f=Hkqt dh fdUgh nks Hkqtkvksa dk ;ksx rhljh Hkqtk ls cM+k gksrk gSA

Section-D (2 x 4 = 8)
Read the text carefully and answer the question:

29. There is a Diwali celebration in the DAV school. Girls are asked to prepare Rangoli in
a triangular shape. They made a Rangoli in the shape of triangle ABC Dimesions of∆ABC are 26cm, 28cm, 25cm.
,d Mh0,0oh0 ikB'kkyk esda fnokyh dk t'u gSA yM+fd;ksa dks f=Hkqtkdkj vkdkj dh
jaxksyh cukus ds fy, dgk tkrk gSA os f=Hkqt ABC ds vkdkj esa jaxksyh cukrh gSA ∆ABC

ds eki 26cm, 28cm, 25cm gSA
A

25cm 26cm
R Q

B 28cm P C

(i) In fig R and Q are mid points of AB and AC respectively. Find the length of RQ. 1
vkd`fr esa R vkSj Q] Øe'k% Hkqtkvksa AB vkSj AC ds e/; fcUnq gSA

(ii) Find the length of Garland which is to be placed along the side of ∆QPR. 1
ekyk dh yackbZ Kkr dhft, ftls ∆QPR dh Hkqtkvksa ds lkFk ¼vuqfn'kk½ j[kk tkuk gSA

(iii) R,P and Q are the mid points of AB, BC and AC respectively then find the 2
relation between area of ∆PQR and area of ∆ABC.
R, P vkSj Q Øe'k% Hkqtkvksa AB, BC vkSj AC ds e/; fcanq gSa ∆PQR vkSj ∆ABC ds
{ks=Qyksa esa lacU/k Kkr dhft,A

30. Once four friends Rahul, Arun, Ajay and Vijay went for a picnic at a hill station. 'Due
to peak season, they did not get a proper hotel in the city. The weather was fine so
they decided to make a conical tent at a park. They were carrying  200 sq. m cloth
with them. They made the conical tent with a height of 8m and a diameter of 12cm.
The remaining cloth was used for the floor.
,d okj pkj nksLr jkgqy] v:.k] vt; vkSj fot; igkM+h bykdsa dh lSj ds fy, x,A ihd
lhtu gksus ds dkj.k mUgs 'kgj esa dksbZ vPNk gksVy ugha fey ik;kA ekSle Bhd Fkk
blfy, mUgksusa ,d ikdZ esa 'kaDdkdkj racw cukus dk fu.kZ; fy;kA os vius lkFk 200 oxZ
ehVj diM+k ys x, FksA mUgksus 8eh0 Å¡pkbZ vkSj 12eh0 O;kl okyk ,d O;aDokdkj racw
cuk;kA 'ks"k cpk diM+k Q'kZ ij iz;ksx dj fy;k x;kA

8m

12m
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(i) What is the slant height of the tent? 1
racw dh fr;Zd Å¡pkbZ D;k gS\

(ii) What is the curved surface area of the text.
racw dk cØ i`"Bh; {ks=Qy fdruk Fkk\ 1

(iii) What was the volume of the tent. 2
racw dk vk;ru fdruk Fkk\

Section-E (5 x 5 = 25)
31. The runs scored by two teams A and B on the first 60 balls in a cricked match are

given below.
,d fØdsV eSp esa nks Vhesa A vkSj B }kjk 60 xanksa esa cuk, x, ju fups fn;s x;s gSaA

Number of Balls Team A Team B
1-6 2 5
7-12 1 6
13-18 8 2
19-24 9 10
25-30 4 5
31-36 8 6
37-42 6 3
43-48 10 4
49-54 6 8
55-60 2 10

Represent the data of both the teams on the same graph by frequency polygon.
ckjaokjrk cgqHkqtks dh lgk;rk ls ,d gh vkys[k ij nksuksa Vheksa ds vkadM+s fu:fir dhft,A

32. The diameter of a sphere is decreased by 25%. By what percent does its curved
surface area decreases?
,d xksys ds O;kl esa 25% dh deh gks tkrh gSA mldk cØ ì"Bh; {ks=Qy fdrus izfr'kr
de gks x;k gS

or
A right triangle ABC with sides 5cm, 12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so obtained.
Hkqtkvksa 5cm, 12cm vkSj 13cm okys ,d lkdks.k f=Hkqt ABC dks Hkqtk 12cm ds ifjr
?kqek;k tkrk gSA bl izdkj izkIr Bksl dk vk;ru Kkr dhft,A

33. If the non-parallel sides of a trapezium are equal, prove that it is cyclic.
;fn ,d leyac dh vlekarj Hkqtk,a cjkoj gksa] rks fl) dhft, dh og pØh; gSA

or
Prove that the quadrilateral formed (if possible) by the internal angle bisectors of any
quadrilateral is cyclic.
fl) dhft, fd fdlh prqHkqZt ds var% dks.k ds lef) Hkktdksa ls cuk prqHkqZt ¼;fn laHko
gks½ pØh; gksrk gSA

34. Factorise the following polynomial.
fuEufyf[kr cgqin dk xq.ku[kaMu dhft,A
x3 - 3x2 - 9x -5

35. In a parallelogram ABCD, E and F are the mid points of sides AB and CD
respectively. Show that the line segments AF and EC trisect the diagonal BD.
,d laekrj prqHkqZt ABCD esa E vkSj F Øe'k% Hkqtkvksa AB vkSj CD ds e/; fcUnq gSaA
n'kkZb, fd js[kk [kaM AF vkSj EC fod.kZ BD dks lef=Hkkftr djrs gSaA

*********************************


